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Imperative Program

Go to the center of the garden ;
Find a rabbit ;

Hold her ; o

Bring her to your home ; —

Give her a bit of lettuce ;

Bring back her to the garden ; [[
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print( 1)

print( 2 )
print( 3 )
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o4 ¢ print( 1); print( 2 ); print( 3 )
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elif TIE7 < elseif EFWTL X
Az, (Hv) Tty

) 2T DR ORICZEHZ Wit s
y Bl i== > = < =

1l




FRNEHE T Lif XLDFAMFA (Python3.8K D)

o if DA DI, RMAEE 250N T 5 2 L D3H[EBIC > 72, fAATEE D
L, OCHE Z E DN B LD THEET S I &
o i :

if (n :=len(a)) > 10:
print( f'List?’ R EF LT, n}ERH D £ 9, BREELUFIOLL I LTS KL

B, ")
if (value := int( input( "#&%% AJ1:"))) <0:
print( f'{value}l3E T¥, [EOEHEZ AT LTFI V")
o RAINIZEIZ, ZNIFELAERLE 1S

_kdll
X
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o LHHEA T
o LHIRR & LT,

e LT,

RIDHNH U & Mg 1

o ZHLHDMZIND T 2 & TE Btype( ALAARBEDLH %

=TT 2 2 LD3TES
1% bool, int, float, complex, strzZ 3% 2 E3TE 5, X 7ok

]

D

(T
H\-H
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102 2L TE 5, WEHOEA, KROERDEA:

Q[
VALY

list, tuple, set, dict®

TIZHLD |
o 4 :

if type(

elif type( value ) ==
elif type( value ) ==

H9RDA BB U 7

value ) == int: print( f"{value} |33&%" )

# PythonD¥5, 22Dl

float: print( f'{value}l&3£%L" )
complex: print( f'{value} |32 %(" )

D EEAEBIRIZTEREI LT VL2
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if 3D %A b

o HMHIDIfX
» REL TG0 EZITOD)
o NHIDiIfX

4

D T v e ZI2Oo0 9

Z DR DI57>T5

o« i -

if value > 0:
if value % 2 == 0: print( "IEDRE" )

else: print( "1ED A" )

elif value == 0: print( "55" )

else: print( "HD%(")
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» mPEfE (A)  and MWD

» swEEAl (V) or EH LD
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D N> > T\ B 8897 D3FalselZ
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and |, RO Trued & E721F, i

i PR AL DA
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TV E T 1. Truell 7z 4.

it D3 Truell 72 4

ori¥. & DIEDFalseD & X 721F. et D Falsell 7z A
not True True and True True or True
not False True and False True or False
False and True False or True
False and False False or False
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o BRDFMAE, I - SN2 & CTHRISDED D 5
» 100<x <200 (3&ETFS LXKHITT 5
(Python 3, Julia TIIHKEE T 543, C/C++/Java/Python 2 TIE VAL 7 — 72 % D>,
Il 6 GG, FESs @2 LTLE))
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e XDEIHBFMADIINRTE 503, and TES 72 7 H e
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not (51

not (51

Al vy

115

F )L v DOiEH|

ZBEHT A 2 L AYARE

cA and 551

‘B) < not 521 A or not 55/B

A or %{tiB) < not 551 A and not 5571'B

not(x==1orx==2)
= not( x==1) and not( x==2)

= x!=Tand x!=2
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F - ®)LAH HIE B

e 100 <=x and x<=200
e not( 100 <= x and x <=200)

» not(100 <=x) or not( x <=200 )
2 100 > x or x > 200

« <=200 x >=100

100 200
x < 100 x > 200

o
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o RE LFT

Z NI DR

» not(a==Db) & al=b aisnotb

» not(al=b) & a==Db aishb

o AFg ERE

» not(a>=b) & a<b

» not(a>b) < a<=b

o SR FEE DR

» a>=b < (a>b or a==b)

o in HE T DHRE

» notainb< anotinb

not(a<=b)< a>b

not(a<b) < a>=b

a<=b < (a<b or a==b)
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fliSNRVDOTHEET S &
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o ZDIEDEF (Leap Year)2 & ) DHIET S 70 7 7 L
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» 4 THE| DU naild, s
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» 365 H+0.25-0.01 +0.0025 =365.2425

AR &1 ?

) HOBER D /ANEREEAIZ . 365 H N> 72 D) Tld 72\,

45E 12 1
1/4 ... 0.25
» 1004F 1 H 1345 <
1/100 ... 0.01
) 4004F 1

1/400 ... 0.0025
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* ifelif X TTZX5%
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if 7

o if C, Pl T A% &L OMITRETE 5

HDEGEDE if SR else 14D 5E DIHE

b

o XD T, RAXDHRRXY y FIEELDANTA =Y DHPRTHHEZ S
» x=101f y >=100 else 20
» c.create_rectangle( ...., fill="red" if x>100 else "blue" )
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if x > 100:
y =10
else:
y =20

y =10 if x > 100 else 20 # Python

y=(x>100)?10:20; //Java, C/C++, C#, JavaScript, Julia, Swift, Dart, Rust
y = if x > 100 then 10 else 20 end # Julia, (AppleScript)

=]F( x> 100, 10, 20 ) EXCEL
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ifzl (HEX)

o if Az XA MSELILEHTES
c="'A"1f y>=80 else B'i1f y >=60
else 'C'if y>=40else D’
c=("'A"if y>=80 else ( 'B'if y>=60
else ('C'if y>=40else 'D")))

o N EHT AT VT s
y XX EETE S, FHEIT S
y HVVEZI A EMZ L T0RA3DD00L6\0D T, 1ZEIFEIC
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PythoniHH. - DEIFEEN. (Python 3.8hi))
o EP BN DMEC, PRI BIEALH3E

RET L

= KA

lambda ZLT

if -— else E L

or 7—JLEE OR

and 7—I)LEE AND

not x 7—ILEE NOT

in, not in, is, is not, <, <=, >, >=, =, == FIEVYE—MDTA N Z2ET L

| Ew ~E{I OR

A Ew hE{7 XOR

& Ew hE{Z AND

<<, > V7 NEE

+, - MEL L RE

@,/ /. % {i;]ﬁs TIIERE, BRE. VDETRE. #8R
+X, =X, ~X E¥. 8% Ev MBS NOT

* NZE5E [6]

await X Await I\

x[index], x[index:iindex], x(arguments...), x.attribute ,B%;?"F}EE\ AT ARIE. BUHL. BES
ICERESIOnSS), BERFLENR. URNER BEX

— A e—
[expressions...], {key: value...}, {expressions...} T RERT



70275 LhDIREETER

o

o 7’177 L DIREE(State)
» BEHEOREICH S LT

ot

o 7'u v 7 LDIRREER (State Transition)
» BHOEDPEDEDO>TW T EZET
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o 7arv o LDIREE

» R DED—E DA

o BRDEIPELDLIUL
» IRREEBEE C 5

707 5 hDIREE

ZhHhHZ L

public class Transient|

public void maind Siringe | | arg )
int x;

¥= 10
-4 L P
=

o! - :’2 .'.. ';(

X DANEAREATD -TING
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R L 2 acidh 9 5 fi 3L

I while)’C
» DL LREETLDH S

@ f OI‘jC

» Python, Swift TlZ, Y A & 2\ ILHiF

DT 27 I L TOMK LI

Eizps

25, ZHUIXHIRT bforXid, Java/C#/JavaScript’s & TIFHEINLTW» 5
for (a of nlist ) — JavaScript CPython!(Z X9 % for X

for (ainnlist ) — JavaScript Tld, ald, nlistD A ¥ T v 7 Al %
nlist.forEach( ..... ) > YA MITRTH8RRLDEZEXY v F
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while XIZ X 588 L

while ki
RO BR LW b
[ else:
W ERRICFEITINS Z &
» while X ?D =R ]
» HRBESAEDN 7- ST W AR, FEfT T A
o while X Z1{# 9 IT1Z,
ISV NES Y

N —

I&

it zmi7e S %5 K ) ITIRBEE I 5
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9 7= NI,
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while X D)

i

L. FalselZZz o756, RIZw (L,

false

RDR=ND

5

VAY

—
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o REBEMZ XS T2 70y 7DOHIZANLS
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ul %k L 3C

R L 2 LT 288008 EDHTHAWIMEIC 72 5

count=1

while count <=10:

#0IRINDLHNA

count=count+1

-'-W
v

TR FETIT 4 9 1213, TABF — % fif
P ZERETDIX. delete¥ —
y £ V7 v bD EFNITIE, VSCodeTlETab & Shift+Tab

4&
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IRBER IR B DM Z 1

o BRDMEZME> TV BAIEL L TEL OL—TEHL!
= 2D & EDREBUSEEL
o BRERESLD, ASKCLELD LT, WInE@rSE5

i 3)
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IW—T7 EBBDEAL

o RIDEALDLTT TR 3 [RIE D3P

2

J\\V

QL

count = FIHAME
while count < E#H -

count = count + %53\

J

o fuR L DR IICeilZz{EoTRD S LA
= | (&ME - HAE) 2 ]
® |a|..CeiatFEL WD, akh DRI VEm/NDEEL




I—7 D

m =2
while m < 21:
m=m+ 3

> Dé&bi\ r (21-2) /3 —‘T\ 7 19|




D2 > 7ok L

) V=T B DIEZ % Z T

RV, iSRRI R (T 5

) V=T BHDEZ L S>TAY y FIEHL DRI A —=F L EITfZ 5
) B2 DK O ) REIPIT, b LW T —Y DOMAEIC X 5




W—T DL —A

o)L — 7T BHDEDEAL % B 9
» AIDME (#IHAfE)
y By (F4) {H

» MEBLSRE DD B L ZDME (Fif&fiE)
ofHDHEE 2B > TLIUTHIR L 23 E ) B 2205

VSCode T, ED7\WTDITHRFEIATIZ Y v 7 LT, BOWET (ZDfTDOFEITDREITIEE %) ZHHET 5, =

IR RS NS

e 35

eVSCode?D i1 X =a2—D 'y

TOREE ] D E A6 ELTEIEE

e 'Python Debugger; T, 'R\ TW5Python®Y 2 —)L 23T, ZiES
o TNy ) N—TI3, | Step (ipdbTldnext) 1F 1179 DFEITT %23, StepInto (ipdbTldstep) FBIBIFHIL Z L

TWw3Et, 2551475 TCLEH DT

(ipdbTldreturn) % )
e RDIED 72\ TE TEITL 20 EaIE.

>

R (printBAB72 £) | S 2 WL DN

Continue (ipdbTldcontinue) 7% i)

& (1. 5T, X=a2—D TNy JDEIL) 226 (ipdbTldexit)

(IZfT>TL £57 5. Step Return

> < v T O 0
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» )L —T BRI OIS 2 7 S v K ) ISR
) IL— T BB EDEREIFEET 3
» FZFIEEODICHRET 5

«

I S BRI 205G H 5
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® while 551

® while 551

o A VT VIFDPRDHoTWWwE, 120D7

TL

S D X%

=N

\’IIl

==

H

A VTV EDRHHOTWHRNY
ATV EDRHHOTHR WY

I >
e
aN 7

R L DL S A

Xm0 E X

TXY %

v 7 E LTI D LT,

mr}

\—/uxgm
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o if L EiHAGHE T,
» 1245 HooD/ND H

c ROHZXRD 5

» 19004E 7> 5 21004F =
o GHIZLZ KD 5

- COMFED—E 2T

o (TEDKTTnHEELD AR T A4
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e Python® Y A bt I3
» JavaScript® Array (21T %
» Java7Z &, ArrayListiZi%49 % D5,
» C/CH72 ERCHNICEE T % 25,

Python® V) A + LoD FRE

CBEATEY A SO

15 DY

C/C++IZ

gl

12 H %Y

1%, ERAETC

o HBMDIEZ[ |THOTHR>TELS I ENTES

o ZNZENDMEIFESE LIS DS, Python TIEEES
W, HDORIZ KD 5 DIk, type( )fHIA AP %z 5
o B :

|
>
v/K

[1,2,3,4,5]
["A", 34, "X FA", 45.2e-3 ]

(Ht

jwsef

XD
3

2RO T\ B,

TY XN DEREED 72\

RN —I N T2 < TH
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o LRI

» 5]

5

\./]

® 1
)
» 5]

4

e
v

4

DA+ ERE

UAFZRATEIEDLTES

xlist=[2,3,4,5]

w S

%ERMHLM)};%

xlist=13,4,5, 6]

xlist| 2 |
xlist| O |

# 58D L 5
# 33ALD I N5

. A v Ty 7ARXEWVW)EdERZH WS

v P ARTIODOEEZUNDHBLI-WEZIE. A VT v 7 AZ002 614
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forxX{E YA b

1. YA NDKELED, LI SIEEFIC, BEICiRAI NS
2. ZDIWREET, THEHELIZWLWAHAR DBFETINS
3. WBDBELF TCRAINTEITINLOHKT

_/%lll
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for XX DY

for n in[4,3,2,4,6 |
print( 7, end=" ")

o MICEENDIHEIN., RPOBEEDIRAINSG (ZDEH. BEHD4)
o printBEZDIHTIL, nDIEDPRRI LS
® RBRDODBEEF THEIRL ZHelT 5

I
W

%«I




WHOBZEF2 Y A OGS

H U A b DOGEIE, BRORZHET % DIiltyperlid AL Z {4 9

| A

il

e

A

A% complexD3iR I 11

—

Bidint, FEEEfloat, SCFHEstr, U IXbool, #

il

RE oY RE

RMERID Y T 7LD, U A Filist, ¥ 7 Vidtuple, Hthidset, &

| |
| |
~

HlddictdR I 1%
)
for nin [ "John", 23, True, 45.3 |:
if type( n ) == int or type( n ) == str:
print( n*2, end="")
print()

}kdll

L1}

57



Range”/ 7 ADX 7 =7 k

® rangePdEiTRangeZ 7 ADA 7T =7 + D3R
® range( & 74)...0 ~ & T E-1F TOHES
#l @ range(10)...0 ~9X TODH4I

IN5%

o range( BIIGHL S TH0) . BIIGS~ 1T 81 % TOGRSI

% : range(1,10)... 1~9F TD4ES

o range( BHIGSL, 4 T8, 757 ). BHEKG 5 14 :

E D) DRI NT VLo I

7l

MTE D, B+ DG5, M TBUISELTO®ED D ZaB-Dia13, &7

LD REZOEIEIDES NS
# : range(1,10,2)...1,3,5,7, 9D
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Range”7 7 A & 1) A K

* range/ 7ADA 7T 27 MZXkoT, fEonEIE, listBBIC Lk >T, YA

MIEHAT 22 ED3TE S
o # :
list( range(1,9,2)) = [1,3,5,7]
o ZNZHWT, VAFELTHLHAHT A Z EA[HEICR
o i :

numlist = list( range(1,9,2))
print(list[ 2]) #5D3FR NI 5
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Range”Z 7 ADF 7 =7 b LiE A - fLIAAPHIEK

* in/notin MHEE 5, A74 AXDFERIL, range” 7
» 7inrange(3,10) = True ADF 7T 27 bDER
» 12 notin range( 4, 12) = True > range( 12,23)[ 4] = 16
o *|Z & 2 iR » range( 11 )[ 4:6 | = range(4, 6)
» print( *range(5,10)) =567 89 » range( 1, 10)[ 4:6 | = range(5, 7)
» printD BB OBATCIX, s len B
1200, H B\ IS » len(range(4,9)) =5
o range”/ 7ADL 7T =7 MIZHb A v * max / min [J2X
T I AR, A7 AR EHTZ » min( range( 3, 10 ) ), max( range( 3,

10))=(3,9)
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for X & range

o forXDinD#EICIE, RangeZ 7 ADL 73 =7 F ZHEE
o H:lX, for % in Range/ 7ADA 72 =7 |-
o i

for n in range( 12 ): print(n ) # 0~11% T/

LiLl]

for n in range( 1, 10 ): print(n ) # 1~9% T/

for n in range(5,-2,-2 ): print(n ) #5,3, 1, -1%2 &/

52 EDHHEIC R B
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N (/NS
b I‘/D\$D

summ = 0
for i in range( 1, 11 ):
summ = summ + 1

print( summ )

g

o BT
factorial =1
foriin range( 1, 11 ):

factorial = factorial ™ 1

print( factorial )

il « FEHEZ R %
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OV —T7EEDOMEDEALITE

£

2/r
o

fllzeKked 5

ORLEDLIN L EsumDEALICHIEHT %
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A BNT X 2 HEGRR L

HUZnmgR L2 L7202 T, ZDRDON =7 K2/ 2w X ) L6
3. AL CTvF—n"=) ZHVLIENTES

o il :
» for _inrange( 10 ): # 1008 0 & L 72 >

print( "WOW!", end="")
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DAL « 70« LFH - rangeD V) 7 7INVDEZRZA VT v 7 ATT 7R A

FHIA ABE DlenPd Y A b DRI Z R LTS5
o lenP# & rangePE ZHAGDHE 5
o i :

xlist=12,3,4,5]
for i in range( len( xlist ) ):
print( xlist] 7 | )
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JAF%ZforLTIESD (V%L —%R)

o forXZflioTHIHMLINIY AN ZERT A ENRTES
30 0 2 for X [for3.L ] [ifX ]
» 9l : [ x forxinrange(1,10)]=

[1,2,3,4,5,6,7,8,9]

Il

4

o ZDL XTI DAHT 5 Z & H3AHE
» il 1 [ x forxinrange(1,10)ifx % 2==0]=

2, 4,6, 8]
» 9 ta=[nifn % 2==0else n*10 forn inrange( 1, 11)]=[ 10, 2, 30, 4, 50, 6, 70, 8,

90, 10 |
» Il : [ (x, y) for x in range( 1, 10 ) for y in range( 1, 10) ]
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tuple, dict, setd for TR T E %

o listdD AN,

» 1 : list(n**0.5 fornin[1, 4,9, 16, 25] ) — [1.0, 2.0, 3.0, 4.0, 5.0]
o tuple?D )k

» #ll : tuple(n forninrange(5))— (0,1, 2, 3, 4)
o dict?D 4k

» il @ {n: n**2 for n in range( 3, 8 ) } = dict( [n, n**2] for n in range( 3, 8) ) —

13:9,4: 16, 5: 25, 6: 36, 7: 49}
o setDHNK

» ¥l : {n**2 for nin range( 3, 8 ) } = set(n**2 for nin range( 3, 8) ) —
136, 9, 16, 49, 25}
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mElill e o — 7 V AT T 5 720D MEETDIH 5
» %l *[1,2,3]=1,2 3ICEBHI NS
ZNZNDhE i CThb L TH %

» print( *| 23.4, 45.6, 56.7 | ) = print( 23.4, 45.6, 56.7 )

» print( *( 23.4, 45.6, 56.7 ) ) = print( 23.4, 45.6, 56.7 )
» print( *{ 23.4, 45.6, 56.7 } ) = print( 23.4, 45.6, 56.7 )

» print( *{ "two": 2, "tour":4, "five":5 } ) = print( "two", "tour”, "five" )

} print( *"ABCDE” ) ﬁ print( HA", HBH’ HCH, HDH, HEH )



enumeratePdZLE U A L « ¥ 7L« T

o FHIAAPRIELDenumeratefA2lZ. VA ML THEAHINL, ZOYRANDOEELE A
/Txﬁxwﬂ(&7w)#emmﬁm%ﬁtmux%%LLT<M%o

o #l : list( enumerate( [ "A", "B", "C" 1))
(VT [(O/ 'A')/ (1/ 'B')/ (2/ 'C')]
» list( enumerate( "TABCDEF" ) )

—[(0, 'A'), (1, 'B'), (2,'C'), (3, 'D'), (4, 'E'), (5, 'F')]
e cnumeratefdZHWT, A VT v 7 RE—FEIZIYRAFNZ2EHRET A ENTE Afor

XEHRTE S

o ¥l : for n, value in enumerate( [ "A", "B", "C" ] ):

print( n, value )
e enumerate( Y A I, start=1 >~ 7 v 7 ADFIHRES ) AlHE
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enumerated 7> = 7 b LEE T - BH%

o *HEL I K AT —7 v AER ( *fenumerate( gL

» print( *enumerate( "TABC" ) )= (0, 'A") (1, 'B") (2, 'C')

» print( *enumerate( enumerate( enumerate( "ABC" ) ) ) ) = (0, (0, (0, 'A"))) (1, (1, (1, 'B"))) (2,

(2, (2,'CY)))

» print( *enumerate( n**2 for n in range(1,5))) = (0, 1) (1, 4) (2, 9) (3, 16)

* in / not in J#E LT

» (3,"E" ) in enumerate( "CODE" ) = True

» (1,"A" ) not in enumerate( "ABCDE" ) = True
* max / minE%X

» min( enumerate( "FGHIKLMA" ) ) = (0, 'F')

» max( enumerate( "EDCBA" ) ) = (4, 'A")

U)‘f

el )
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ApBIBE U A b - 7 T - CFT

o HLAABIE DzipB EUE, HE DY AT « ¥ )V « SCFINTEH T 2 2 3T
g, BFUAPDOLENS | HFICHEZOX (¥ 7V) DYRAFZERTE 5,
o i : list( zip( [ 'Kobe', 'Kyoto', 'Osaka' |, [ "', "H#L, "KFk']))
— [('Kobe', "fii7"), (Kyoto', 5{#B"), (‘Osaka’, "KK")]
» list( zip("ABCDEF", "®\» ) 2 E","—_="))
S[CA, "B, ), (B, 0,2, (C, 05, =]
o zipEE L for X ZfHAGHOE T, HEDY A 2P LIREKTSH L HICT S
EPTE 5
o ¥l : foren, jpin zip( [ 'Kobe', 'Kyoto'], [ "fi", ZLAB" ]):

\

print( en, jp )
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zipA 7Y =7 b LT - BEK

B K 550> — 7 » A&
» print( *zip( "ABC", "DEF", "HJKLM") ) = ('A', 'D’, ' H') (B, 'E', T') ('C', 'F', 'T')
» print( *zip( "ABC", zip( "DEF", "XYZ")) )= ('A', (D', X)) (B, ('E', 'Y")) (C', ('F', 'Z"))
» print( *zip( n**2 for n in range(1,5) ) ) = (1,) (4,) (9,) (16,)
* in / notin ¥
» ("B", "E" ) in zip( "ABC", "DEF" ) = True
» ('Kobe', 54" ) not in zip( [ 'Kobe', 'Kyoto' |, [ "#i7", B#L' | ) = True
* max / minBd#X
» max( zip( "DEF", "BAC") ) = ('F', 'C')
» min( zip(["C","D", "A"],[2,4,3])) = (A", 3)

i

o %y
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while X & forX & D b #4:

o while X Zfor XX CEHEIEITLGIE. V=72 —EDERZRE LD, 5lwwizh L
TWALGHIZIR6 L5

n=A
while n<B: X:n+=C

— fornin range( A, B, C): X

o forXZwhile XX CEZET
for n in range( A, B, C): X

— n=A

whilen<B: X;n +=C
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i) <

011 & kGG DRYE DT IZ X 2
S

H & SE4T
for n in range( 3, 0, 10 ) : print(n )
Al & T I 4780

for n in range( 3, 10, -4 ) : print( n )

=S
nxn
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. break X IZHIE 9
AT —F (BEE

break X

. —EBANEIO 7y 2ol T A
ELND AN Z Zd 0wl 9127 3) 1I2bwhiled & iz B L

WHILD,

EBHZITUPER L - 0SS Icfibinn s

, while True:

A

if S51F= : break

B
. break X THkT 7285

Al whileXCfor X ilelsef]3 DWW T W T H . F Delsetij D 7

VA S A=Y A% 4
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break X & — F

o MBEDADIHZ ALK HIZT 5

® while True:

value = int( input( "AJJ: "))
if value >= 0: break # 024 7% & i i
print("IEOZZ ATTD Z £", end=""")

o whileXZKIT7-EBETIZ, OAEDETH A Z LRI NLT 0 4
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continue X

o continueX . RDFESR L IZ W (
o A VTV FEEFELLEWESIZMEY Z L%

® while True:

if FRIV9 % 5%

b b

iR D) IR AL

&
L&

- continue
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pass X

o fifd L 2\ >TRDICHillfHIZ 49

o HlHHINECPREEDER T, NEVBREDGHIZ, passXZzflioT, RAHZ X
NI DIfHEbIS

o i :

for _in range( 10 ):

pass # 10[Al{a[2>7% %> % %€
def some_function( arg ): pass # "B ARIE D %L

L1}

o & TpassDWIT D7 BT 7 L%2EHIWZ 5
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assertjC

o assert LlZ. TNy FHIZ, A4 V¥ =TV IZZITHOENAEZNE I D% T A
FTA7DIZHWS LA
=3 ¢ assert [, 3]

L1}

4

N

4

BEL. 27 -DOfRE LT, 2/HDER I NS
» Il : assert 5==8, "Equality Error" = AssertionError: Equality Error
» HIDQ2HEHDOATZ 7 =D AET 2856, 2O T 7 =4 T %
» il : assert 12==34, 555%2==3x

= 3xD 53T, SyntaxError: invalid decimal literal 23278 S 41 %

FHORAD D 25515, assert T, MDD 72 SN2 WS, 7 — D%
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o A} (52471

o
lnl

oG [ B PTHE. exceptHiilX1

try: XE7XIZ7ay 7

except [\

([as BRAA : XE 7137

[else: X E 7z l1E7 a0y 7]
[finally : X £ 7370y 7]

o exceptiid

 exceptHii D
H]HE

o 1 :

L oIS FEPE & fEE
' as B4, T, 5

try: ix = s.index( "A" )

except: ix =-1

try except X

VI Z 51T —) 2T 5729

H

v

I T2

X oY (WS

PLEDiR L AlHE.

95 &7537

RN, I oPINox 7 =7 b2fAANT 52 LD
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try except X CL7 — 2%\ L %

o except X TlE, RITH 7L 7 —2RBIREFEL, BRRIEHILENTES
» il :

try:

value = int( input( "Number: " ) )
except Exception as error:

value = 0

print( error )

o ZDRHIFHEITHWIT A LA L 2 A
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IAPFINDIEENER 7 T A —8

BaseException » A VT Y 7 A EDHEIPFH A Z - &
» IR TOMIAAFINDILEK 7 7 A X

ZoTWw3s GEEIZDLTD o HLHIH

Exception® /5 %z i 9 ) » BHOT7 U7 7 LFTTEIY ) 5
Exception I
» AT L& T DD TDRIA AH o OSHI4F

MDILETH>TNE T T A y» EITEEBEDOARL —F 4 VI AT
ArithmeticError LA L THEZ ) 9 B ¥4
» AT AT o 5 :
BufterError

y Ny T TS — » https://docs.python.org/ja/3/library/

exceptions.html
LookupError
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sqlite32~ > K —)L

e 2V FY—iE, MacOSXTli, python.orgh*5Python IDLEZ ¥ v 11— N9 % & HEIIZ A > A
FP—IL I 5

e Windows ¥ & U’Python IDLE%Z { ¥ A b — )L L TR WEEIZDL T D R—U ) 5sqlite toolsz ¥ 77 >~ 1
—F75%

» https://sqlite.org/download.html
e Windowsld, A YA F—9 5 & EIT, PATHIOENMNT 22F =2y 79 %

MacD &5

Gecompiled Binaries for Mac OS X (x86) j

sqlite-tools-osx-x86- A bundle of command-line tools for managing SQLite database files, including the command-line shell program,
3350500.zip the sqgldiff program, and the sqglite3_analyzer program.

(1.42 MiB) J

sqlite-dll-win32-x86- 32-bit DLL (x86) for SQLite version 3.35.5.
3350500.zip
(538.88 KiB)

sqglite-dll-win64-x64- 64-bit DLL (x64) for SQLite version 3.35.5.

3350500.zip : H /A,
(879.80 KiB) Windows® 3[:7%7 (=

( sqglite-tools-win32- A bundle of command-line tools for managing SQLite database files, including the command-line shell program, )

x86-3350500.zip the sqgldiff.exe program, and the sqglite3_analyzer.exe program.
(1. 81 MiR)
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https://sqlite.org/download.html

sqlite372= H]H ¥ %

e ¥—IFINaAR Y NV —INBEDY—IFILY 7 b7 ETAHALY N7 VY 2 T5H)
» %l : cd /Users/L— %/Desktop/Script 2021 Mac/LinuxD &

cd C:\Users\ 2 —# 4\ Desktop \ Script 2021 WindowsD ¥4

o Isqlite3) & BT 'sqlite3 7 —F N—A% THEH)

» ] : sqlite3 test.db

- ZD7 A)NVFIltestdbi ) 7 A INDERI NS

e XY FANDPHTLS 2DT, avr Mz A5

» %] : help  — ~ILTHHIDER

» .open T — 4 N—R%,

» read SQLDIEDNT27 714 IV44

» quit — &7

» .tables — FT—IXR—ANDT—7)IN—&

» schema — A¥—~<[ER—&

» select * from sqlite_master; — T—=IXR—ZADIEH—E



VSCodeZ>5 DA - SQLa~vy F<w=a27 )L

e VSCodeTlx., HERENLIE TSQLiteZ FITT 72O DEEREILIEDYH 5

sglite3 .
SQL|te alexcvzz.vscode-sqlite

SQLite 0.12.0 | o ) \

Explore and query SQLite dat.. alexcvzz | © 608,325 | kk kK JRORY | Sqtevz | vo12.0

e & Explore and query SQLite databases.

ot

‘ 7> RS 7T AW R— 3 2 2
o Sqllte3 £ COHEMEEL S O~/ CEEEATNET, / — HE

» http://rktsqlite.osdn.jp
» https://www.sqlite.org/lang.html



python37> 5 sqlite3% F|H 9 %

e pythonZ 4 ¥ A F — /3L, BHETsqlite3D 74 77 VDA Y A b= INT

V5
o T— I NR—RIZEH LT, h—VI%Z2lES
» 4l @ import sqlite3
conn = sqlite3.connect( "test.db" ) # £Ziic
cur = conn.cursor() # 71—V IV Z1E5
o B —YV K LT, execute(\BEE -5 L FETNTE 3

» Il 1 cur.execute( "select * from sqlite_master" )
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FITRERDZITHLD

o sqlite3 T, selectX 7% EDSQLDOFHATiRZ, F7NDY AL ELTRLTL %

e forX T 1113 2o%IFHLA

» {9 ¢ for row in cur.execute( "select * from sample" ):

print( row )

o B, T DOHEHREN., HIfRZ ET —7NVICE
SQL Ccommit2 ¥ ¥ FZ (T3 50D H 5

» # : cur.execute( "commit" )

—

— A

2 IMA 725503, Rl

-
-
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try except>)C CHRATIRFHINZ2 ¥ X v F

o sqlite3ll T, T7—DFHEL726, ZNZtry except XL TEITHLS
» 1

try:
result = cur.execute( command )
except Exception as error:

print(error) # errorZRX/ANT 5
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raise X

{

T — 72k 5

£3\ | raise [ Z\ [from 2\] ]

R DNTRINLEHN I FADL T — %K BT 5
VaIE

raise Exception("Some error occurred")

L1}

89



match> (Python 3.102>5 )

o PythonPAFEDSwiftPRust, JuliaZz ED 70 7 7 2 V7 FEEICE A I 1T Z Zzmatch
XA Pythonlld 74 — FNy 7 INTHERA S X ) IR 7 v 77— b Sz,
o JLARMNIZIZ, C/CHBREDswitch XX DFERERIZHE>TW» 5,
o EASGERIEMUTD L) ICH>TWw 5
» match x\:
case %4 ¥ 5 Juv

case : 70w 7 # 1. ZNLNDITXRTICEZYBT 5
» 2D case DHEIDIL WAL, AlH L
BT 2 R MEHRE T 2B A R, | TIXYI B, PHIRGE A — T )
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match X D% (1)

o JLAMNZzmatch>XX DH case :
print( {"Big moon: m}" )
o ¥ 7 NITK L TDfE ) match X DY

def errorMessage( status ):

match status:

case 400: return "Bad request” # point 132D DEFE D> & Wik

case 404: return "Not found N2 (x 9) DIED 7 Tl

case 418: return "I'm a teapot” |

case : return None match point:

case (0, 0): print("Origin")
m = int( input( "Month: ")) case (0, y): print(f"Y={y}")
match m- case (x, 0): print(f"X={x}")
case2 1416191 11: case (x, y): print(f"X={x}, Y={y}")

print( f'Small moon :{m}" ) case _: raise ValueError("Not a point")
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matchX & 7 7 A

o JIAMRDE)ICERINTVS LTS

class Point:

def _ init_ ( self, x: int, y: int ):
self.x, self.y =x, y
e matchXTlE, RDXHICA T 27 VDA VA VALK ZIREL THATE S

def location(point):
match point:
case Point(x=0, y=0): print("Origin is the point's location.")
case Point(x=0, y=y): print(f"Y={y} and the point is on the y-axis.")
case Point(x=x, y=0): print(t"X={x} and the point is on the x-axis.")
case Point(): print("The point is located somewhere else on the plane.")
case _: print("Not a point”)
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match X & A F SN/ Ny —

e JRAMNDHEEZEDA 7TV 2V "2 BETAILENTE S
o I :

match pointlist:
case []: # 2%V A |

print("YJ A b IZPointh3dH H HA")
case [Point(0, 0)]: # Y A MIZEFRD1OIT T, LH2BH0,0
print("Y A MIEFED 1 D72 T, BRRZIELTHWET")
case [Point(x, y)]: # Y A MZEZED1D721F
print( f'JEEEDS {x}, [y} DI DDEZEDY A MIZHH £T)
case [Point(0, y1), Point(0, y2)]: # U A MTEEZRED2D7 1
print(f'"V) A FMI2DDEZEDH Y . ZDYREIRIZ {y1}, {y2} TIT")

case :

print("Z AN DERH D £3)
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match X E BEZD 7 A )V N Ah—F

o WRZHET BB, VANFEA—FDO_ZHHTH I ENRTE S
o { :
match test_tuple:

case ( 'warning', code, 40 ):

print( "A warning has been received." )
case (‘error', code, _):

print( f"An error {code} occurred with three element tuple.” )
case (‘error', code, *_):

print( {"An error {code} occurred." )

o HINY —V2asTEBUIZRALTEL ZENRTES
o {
case (Point(x1, y1), Point(x2, y2) as p2): ...
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match X & '— F. fiH{EE

o casefliDBIZ. if#DIF T, BEIZOWTH—F (FHIR) 28732 L3 CX 3
o Hi :

match point:

case Point(x, y) if x ==1y:

print(f"The point is located on the diagonal Y=X at {x}.")
case Point(x, y):

print(f"Point is not on the diagonal.")

e ’— FZ2HWTHIHIEEZ TAZ EDNHEEICR STV A
o i :

match value:

case a if a in range( 1, 101 ): print( f"{a} is within 100" )
case a: print( f'{a} is over 100" )
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